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A construction company used 12.543 tons of cement and 8.778 tons of steel.

What was the total weight of the materials used?

A chemistry experiment required 10.683 ounces of substance A and 17.925

ounces of substance B. How much of the two substances was used in total?

Juan, an athlete, completed the !rst leg of the relay race in 2.486 minutes and

the second leg of the race in 3.759 minutes. How long did he take to complete

the relay race?

Thousandths: S2

Adding Decimals
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21.321 tonsa) 21.123 tonsb) 25.231 tonsc)

28.608 ouncesb) 27.008 ouncesc)27.806 ouncesa)

5.245 minutesa) 7.245 minutesb) 6.245 minutesc)
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